
всё кроме желтого всё кроме желтого и 
зелёного

A’={0,2,6,3}
B’={0,1,4,3}
С’={0,1,2,5}
A’ ^ B’ ={0,3} пересечение
A’ d B’ = {2,6,1,4} сим разность (всё кроме пересечения)
A’ d B’  \ C’ = {6,4}
(A’ d B’  \ C’)’ = {0,1,2,5,7,3}

A’={0,2,6,3}
B’={0,1,4,3}
С’={0,1,2,5}
A’ U B’ ={0,1,2,3,4,6}
A’ U B’  \ C’ = {3,4,6}
(A’ U B’  \ C’ )’={0,1,2,5,7}

A’={0,2,6,3}
B’={0,1,4,3}
A={1;5;4;7}
A d A’={0,1,2,3,4,5,6,7}
B’ ^ A d A’ = {0,1,4,3}

A={1,5,4,7}
B={2,5,7,6}
C={3,6,7,4}
A U C = {1,3,4,5,6,7}
B ^ AUC = {5,6,7}
(B ^ AUC)’={0,1,2,3,4}

B’={0,1,4,3}
A={1;5;4;7}
C’={0,1,2,5}
B’ \ C’= {3,4}
A d B’ \ C’  ={1,3,5,7}
(A d B’ \ C’)’={0,2,4,6}

B={2,5,6,7}
C’={0,1,2,5}
A’={0,2,3,6}
C’UB={0,1,2,5,6,7}
C’UB \ A’={1,5,7}
(C’UB \ A’)’={0,2,3,4,6}


